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. Text 1 The following data are the ages of a sample of employees from a govern-

g et ment department:

42 53 61 20 28
48 47 42 38 39
33 27 36 40 44
44 35 35 64 52
31 43 56 23 46

(1) Construct a stem and leaf display for the ages.

(2) Find the median, the lower quartile, and the 60th percentile of the ages.
(3) Compute the mean and variance of the sample data.
(4)

4) Compute the range of the data.

[ N M@
(1) AT (LB R B (stem) - T B F3E (leaf) - H[I

stem leaf
2 0 8 7 3
3 8 9 3 6 5 1
4 2 87 2 0 4 4 3 6
5 3 2 6
6 1 4
n+1 25+1 .
2)D " R 13 #P 80 M. = X3y = 42
n+1 25+1 . -
@ - =i 6.5 » MBI B R

01 = X+ 0.5(X(7) — X(g)) = 33+ 0.5(35 — 33) = 34
60(n+1 60(25+1
@ ) = (100 ) 15.6 5 i 60 SRR

P60 = X(IS) + 06(X(]6) _‘X(lS)) =43+ 06(44 — 43) =43.6
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iXi
_ 2 027
B)DX =5 — = 125 —41.08
n

@ 3 X, =1027> 3 X2 =45147
=/l

<f§:1 Xi) 2 1

i=1 i=

1 n (1027)? | .
8= —— 2 — = 45147 — = 123.243
& n—1 ,EIX’ n 25 -1 { 25 ’
(4)R = Xy — X(1) = 64 — 20 = 44
. Text 2 A fund manager reported that his previous performance of past three years

i : are respective 35%, —55%, 86%, the average performance is 22%, which

is better than the 20% of the market. Do you agree with his assertion?

Explain.
. A
—fRAEET BRI IR R R - BEIERECHE 47 BRI - DU BMBOE S
ESHl:APNC RIS )
T 35% + (—535%) + 86% _ 290

RERHEIHMRE TSN » FEZ LIS 8
G = J{1+0.35)(1 — 0.55)(1 +0.86) — 1 = 0.0416
KETBEE » Ei 0 RS A FEWME=RE 4.16% -

Text 3 CREE R EAE O R BRI R LR 4
s SEEI AR 8000 A - TTELEENERE R 800 A - SUFIFI® HhE sk EREE
TH R -
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(1) SR —EEME A &R - EhEDEEH 75% DLERIHLES X -

2) R —EERE A ER - HhEDEEd % DA ERIEEERG R -

(3) W EFBEAH 90% L iz he » HEBM AR TR 4800 A B2 11200 AZfH -
fRI%_Eaftpt > AR REREE RIS 7

(1)~." X = 8000 > S =800 FHLFRFEEHAL
1 0/ 0, * —
(“p) % 100% = 75% .. k=2
WU EE TRy (X — kS, X +kS)
= (8000 — 2 x 800, 8000 + 2 x 800) = (6400, 9600)
. 1 8 . B
@ l-m=g k=3
B EE R EH TR & E R

(8000 — 3 x 800, 8000+ 3 x 800) = (5600, 10400)
(3) . EEFE (4800, 11200) EIES A

= (8000 — 4 x 800, 8000 + 4 x 800)

B k=4 HHE@EHEEREHEA - 7EER (4800, 11200) Z thFIEA By

(l — %) x 100% = 93.75%

PRIk B SRS AT pRIL

Jet A AT B AEERAULIE L 60 AR SR A

----------- T AT
BE| mae | TonseR
=5 75 80 16
65 70 25

[

45 55 9
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(1) FAFERE E=REE - HF—RRBEBZEH ?

Q) B E=RFH T W—REABBREZER/N?

RV FEE=XEHAT - FEDHILICBRER R # ILERAFAAEE 2D ARIBHENT
W& ] (60, 80) Zfa]?

@ m.

(1) B AR R A AETE B =R plARl— R ZeH - B LR HE oy B i HL AR H Rk
M THELE - B

75 — 80

Z = 7 ==125
65— 70

7y = = —

2 5 1

Z; = 45;55 = —3.3333

V2> 7 > 723 BREESTREFAPEED -
(2) BB =REFH L BERR B LA S RARBFLLE

4
CcV, :%x 100% = 5%

5
CVa = 70 x 100% = 7.14%

3 Lo J Ape— 0,
CVs = 52 x 100% = 5.45%
HEN CVy B/)s » JRENE — R E A EBEEEE R/ -
3. u=70>0=>5
(60, 80) = (70 —2 x 5, 70+ 2 x 5) = (u — 20, u+20)
O & LR ERERIARIH 95% ZEREEEILBMA » REIRHE 57 A -
QFELUFHERTEXNESE % ELEREGELERA > REIEADH 45 AR
TELEE R (60, 80) A -
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Text O BYEHEIR A~ B C = - HI 60 (IFIER - BEHIRE A

e’ RS 06 1 EAT R 36 » AR -
(1) 60 A iR A AT R A R S

(2) 1 60 A FhpRR AT RERENE 2 R S50 2

@ eerneeeneenannnaaas AN

(D) #FFTE n (LERAR ST I > Al % 1l A B o Ry i {5 36 % {8l pReAE s B = 77
96 » RN R B R BB RN - SCFIEUR

7_;§X}_3Ox3ﬁﬁmx96_66
T on 60 h
R R K B R B
5 o6 - X7 ) :
- _ 3036 — 66 +30096 = 66)° . oo,

n—1 60— 1
IREIE AAEHEZER]RE R S = v915.254 = 30.253
(2) & Fr A n BABERCEF— AR 6 » 55— Ak 36 » TIHER n — 2 L& TR

RS RAE - HIAILRF R R OR R/ 0 SEEBR
7 96 + 58 x 66 + 36

= =66
i N R BR
@ _ (96— 66) +'58(2§__ fé) 36700 _ 30,508

IREN R/ MPHEZZFTRES S = v/30.508 = 5.523

e @ BERTIIZABMSEES  ORBTEMT : QBB M,  (3)0L
e i King’s + Czuber ~ Pearson 1 HI[3K iR 8 -

FHF|05~1.5(1.5~25(25~35[(3.5~45(45~55|55~6.5|65~7.5
R 14 36 24 12 8 -4 2
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HREEH
fH 5[ RHREL () | MHP B (my) | EERE(F)
0.5~ 1.5 14 1 14
1.5~2.5 36 2 50
25~35 24 3 74
3.5~4.5 12 4 86
45~ 5.5 8 5 94
55~ 6.5 6 98
6.5~7.5 7 100
& &f 100
k
- Z fimi
n
14 x 1+36x2+24x3+12x4+8x5+4x6+2x7
_ =2.84
100
(2) P8R
n
y 5 —Fin
M, =10+ X c
: fi
=154 20— 14 x1=2.5
36
(3)@ King’s FEHI
I+ 24
M, =0+ =15+ ——x1=2.132
’ Fitfe € 14124 ¢
(2) Czuber #HI]
A (36 — 14)
M, =0+ —m— =15+ = 2
g Aty € (3614 r (36 —24) < 1 =247
(@) Pearson F=HI|

M,=X—-3X—-M,) =2.84—3x(2.84—-25)=1.82
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Jex U FEFEATIRE 6 HRRIEM S FIERATRTT -

--------- 125 13.2 11.2 13 12 125

A Bz Ek - 5HE  (DVEEgE - Q)FPA8 - Q)& + (4)
BELE ; (5)8 FLAREL -

. JNG
(1) T PAIROR
— : ZF1], + 12+ 12. .
7 12.5+13.2 11§+13 12 125:74;4:]2-4

(2) &R R/ NEATES R
11.2 12 125 125 13 132

=6 BRE - AP
Xy + X4y 12.5+12.5
M, = =

—12.5
3 2
(3)fE bt 6 (A& E IR R B E R 12.5 » iHIRE
M, =12.5
()" S X2 =925.18 X = 12.4
=1
Sw-x* ., o
2 _ = . 5%
B n—1 —n—l[ingi_nX]
= %[925.18 — 6(12.4)*] = 0.524
(5) B 2Rk
s V0.524

CV==x100%=
X

0 — 0,
54 x 100% = 5.84%

Jext & SEABESARI 1A - A BB TR 625 -
et R 5 S RASERAEN . BRER 705 0 B
JEHLHY - AP AIERE R - BT SOAZ P8R mrE 2k
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=517

X =62>n=51 %40 S X; =nX = 3162
i=1

BRI T S0 A2 SEAIRR,
— 3162 —70
X5=3 () » B8 = — |3 xF—nX| =

1
“51-1

WU B
52 = 215[196494 —(70)* — 50(61.84)*] = 7.8514

JRE[ S, = /7.8514 = 2.802

Lz X? - 51(62) ] =9, EIE[4I S X? = 196494
i=1

et 9 1 R 40 (HAE o B dh SN AT T -

"""""" #HBI | AH R | AHRE | AHPEL
1 |1.45~1.95 2 1.7
2 |1.95~2.45 1 2.2
3 |245~295 4 2.7
4 [295~345| 15 312
5 |345~395| 10 3.7
6 |3.95~4.45 5 4.2
7 | 4.45~495 3 4.7
&Et -

AR (DEM T8 Q)68 (3) 03 5 URELREYL : O)IERELREL -
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R S e T T T Y NS
fH OB | KB () | HEPEE(m) | BEERE(F)
1.45 ~ 1.95 2 1.7 2
1.95 ~ 2.45 1 2.2 3
2.45 ~ 2.95 4 2.7 7
2.95 ~ 3.45 15 3.2 22
3.45 ~ 3.95 10 3.7 32
3.95 ~ 4.45 5 4.2 37
4.45 ~ 4.95 3 4.7 40
& & 40
k
LA
X ==
n
C2x174+1x22+4x27+15x32+10x3.7+5x42+3x4.7
a 40
136.5
s e 3.4125

@) Fioy < 5 < Fiv BT < 52 <22 ebfirBich,

e
- — Li-1 —
Me=£+2f—xc=2.95+ 2

i

g % 0.5 =3.3833

Mn 75 x 40
3V Fi —— i’ ——
(3) 1<100<F B 22 < 100
Mn
100 !
=f{+ =" xc
0s 7,
75 x 40 9

=345+ 10010 % 0.5 = 3.85

< 32 R =EUS I ER

‘ 136.5
\ 40

= 3.4125
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1 k 484.75
mh = ;Elf,-mf =—5 = 1211875
1 k 1779.165
= — m = —————— = 44, 5
my = — glf, s oo 44.47912
1 & 6719.4835
/ 4
= — N fimt=—— """ = 167.9871
"4 n ,-g,fm' 40
X omy = mhy — (mh)* = 12.11875 — (3.4125)% = 0.4736
m3 = mb — 3mhm) +2(ml)3
= 44.479125 — 3(12.11875)(3.4125) + 2(3.4125)* = —0.1084
—0.108
g = 01084 3306

(vVm2)*  (1/0.4736)3
(5) X my = mly — 4m'ym| + 6m)(m})? — 3(m})*
= 167.9871 — 4(44.479125)(3.4125) + 6(12.11875)(3.4125)% — 3(3.4125)*

= 0.7665

ms  0.7665
L 0 3 4173
2T mE T (V0.4736)

Tet 10 s ERmemm RS . s AT -

T 25 14 10 12 18
SEBEN A ELEERIERAR —FEHER  FEEYRERRT70

b1 BEHEZERE S 40 HIETE R B 2

W RIEE RSP B AR R0 T - Bl

2 X
- _ = 25+14+10+12+
7o _ll 150 12+ 18 _ 158

S (X; - X)2 $ X2 —nX*

S.: i=1 — i=1
n—1 n—1




